Efficiency vs Dxy(PV)

=20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

SR

O

D p (92 ttbar-phasel-newgeom
DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
DQM pixel CPETemplateCutChiSquareNewZ_stepZ_ttbar-phasel-newgeom
g pixelCPETemplateCutChiSquareNew3”step2_ttbar-phasel-newgeom

[_pixelCPETemplateCutChiSquareNew4_step2_ttbar-phasel-newgeom

[ Efficiend]

< 0.5

S E

Efficiency vs Dz(PV)
0.5

o
o
(5]
QL DL LRy Ly LR LA LY LA LR LR LR

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Ratio
=

0.9
0.8

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


